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0. Q9 F699I9RIg AORSIQ AL Y | 2.
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0. I8l 6aal dim geadl 99 8 QISR I AR P |
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9. 390 6QIR F9Q FFIGG 6210168 ONIER ERHY | 6.
@ ggag 99910 H6a4 UIAQl 9aQ 68Ing FI@ |

M. 6996 QR 8 60RdM o1 ARY 6x14d FEd JI /.
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¢, @eme@m 9R1G el - RINPENTR, JARQAR,| g
6F1QIAM 67, MG 699R, YIEFR RRYIQ ARV e
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0.2 gaaI6q Mdie dal Q¢ ¥a° ggA°dyl am QR
Qg *AFU | 94 &8 g 2N 6069 Tl {h6. Qesa
N2 QREQ ARy 1@ Jaal FQIVeE0IQ QI Fug | dIg
foe asa 69163 2I0@ go8 @alde R1@ | 1.

¢ 0. 6x16d AR g IRV 699 6291 gIQ IR g2 81F
AeIg 2gad FuTRIR |

€ 9. 624l QY IAIRR! AR, € T UFAIER IV L6
Jerel Qdalg 629 |
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Y. QG 668 90 GRe frIcq aqiBldinlee edloieag| 14.
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10.

12.

13.

INSTRUCTIONS

Read the instructions carefully.

The admission to the examination is provisional.
In the event of any information furnished by the
candidate found false / in-correct / incomplete
or illegible detected at any stage, the
candidature shall be rejected.

Please bring the admit card and the
acknowledgement card for admission to the
examination and produce the same as and when
required.

Please put your full signature in the descriptive
roll-sheet in presence of the invigilator.

Darken the circles in the OMR Sheets
completely with Blue / Black ball point
pen only .

Write your Roll No. correctly in the space
provided.

Do, not open this Booklet until instructed.

Do not take any other materials to the
examination hall other than pen and pencil .

Electronic devices such as calculators, Slide
rulers, cell phones, log tables, camera etc. not
to be taken to the examination hall.

Please check the No. of printed pages,
Questions Serial No. and in case of any
discrepancy, exchange the same within five
minutes and thereafter no complaint shall be
entertained.

No candidate shall be permitted to leave the
examination hall until the examination is over.

Discipline must be maintained in the examination
hall as per the Odisha conduct of Examination
Act 1988.

The candidature is liable for rejection in the
event of any infringement of the instructions
mentioned above.

The candidates are not allowed to go to toilet
during the last twenty minutes of the
examination.
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CHILD DEVELOPMENT AND PEDAGOGY

g6o4e ggQ SIEQIT AR KAQ FAUIKING | 62g9ER AUQ Og 2aady QI8 OMR T4
Qg2 QAGF *R / 9P IR I AR QIR YL VUL AR /A |

Each question has four possible / probable answers. Choose the correct answer
from among them and darken the appropriate circle completely in the OMR Sheet

with Blue / Black ball point pen.

1. 2 QANIQ 689 gl gIAFe 2Q IR AI0Y §AR! 9Ye QeI ?

(A) seaal (B) @. Q. 99° 9g. 4. Q. Q. &
(C)¥R.4.G. @ (D) Q. 9. &. g

Which organisation of our State prepares the courses of studies for the primary

level ?
(A) OPEPA (B) TE & SCERT
(C) NCTE (D) £ ELTI

2. Q698 AIQ 6296 JgQ FIR1Ge AR 99108 ?
(A) @RAQAAR (B) dQqIdiae

(C) 98N (D) 4RAUNR
Which one of the followings indicates child’s physical growth ?

(A) Negative (B) Quantitative

(C) Qualitative (D) Positive

3. ‘8 390 gRQ @ d6s’ — 92! 699 IS 07 AU ARIGE ?

(A) AIR1@ QR (B) 2289d (C) gaggelie (D) Q1608 g59a
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“Individual learns from his own mistakes” This statement is based on which learning theory ?

(A) Instrumental conditioning (B) Insight

(C) Trial & Error (D) Classical conditioning

4. 299 RIQ 699 Q2YT Og g6 ?

(A) 2998 1@ 6660 9@l (B) QI8 9@ AQASIQR 9@
(C) 98l 9@ RAIQH1 J@ (D) @968 9 289G dfeae gasl
Which of the following statements is not true ?

(A) Growth is a biological process
(B) Developmentis a quantitative process

(C) Education is a goal-oriented process

(D) Learningis a process of behavioural changes

5. Q2098 J¢ 6996Q @679 69w 0aid O] 968 ?
(A) YRR IFQ (1) A2REQ Jg ILe @RI
(B) Q92 I8 Q@ AL 16899
(C) @¢eQ AlIFER Fgm 8 99 AAIIKS calRdlea
(D) @28 qlew AIQ AIg 6515N 0 QA 26T
Which of the following statement is not true in case of multiple choice questions ?
(A) Evenaninexperienced teacher can prepare the questions easily
(B) All choices appear to be plausible
(C) Error-free and quick evaluation is possible by computer

(D) Only one of the choices is the correct answer

6. dRIEAINIeER 6989 6QIT-IRG! 699 R INIIAR YR FQAE FAULIRAN ?

(A) MR (B) QqIggee (C) SRR3R (D) 62918
What type of evaluation identifies learning deficiencies and difficulties of the learners ?
(A) Placement (B) Summative (C) Continuous (D) Diagnostic
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P66 2190 g0 90 7 9F e AIede Qae f1l 7 oF 626m 2196 76718 699 6541160 22QS
699 ?

(A) QRIQY @& asa (B) QRIQE Q& Q¢ (C) 6941 98 Qe (D) 2ARIQE 9F AR

Both the chronological age and the mental age of a pupil is 7 years. He may be classified
into which category ?

(A) Below normalintelligence (B) Normalintelligence
(C) Superiorintelligence (D) Genius

g9 9991901 QE6RIQ 6296 AR T6RIT 0IQ &7 ?

(A) @ A6INNRQE (B) ¢ @R

(C) 29I9Q AR (D) o% 6 ILARRI JUAMRQE

Which is different from the other three with respect to fine motor Movement ?

(A) Dot Joining (B) ' Dictation

(C) Handwriting (D) Separation of fruits and vegetables

‘IR diafie 81’ 6A96R IR ANUER YR EREISI 6 (% CIFER JEQ QIR FQ G-
QIREIN — 92| 627 JVS 07 AU6R 2RJIAG ?

(A) 9Legale (B) aAge®
(C) a8l (D) AR

At the pre-primary stage reading aloud while writing is given importance. This is based on
which theory of learning ?

(A) Trial & Error (B) Conditioning
(C) Insight (D) Imitation

dg-99 991 996 Aa96q F6¢)Ie AQ QIRIg S910q FUIKIQRN ?

(A) 99w (B) 6982 Q4 (C) 99a 9gaIcee (D) dNR AAQ
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Which one of the following is not taken into consideration while preparing the blue-print for

atest?
(A) Topic (B) Instructional objectives
(C) From of questions (D) Teachingtime

ABRAIRR 6RRAR

(A) 29 ARG FRIQ (B) AQneID IR

(C) 600R AAC SRR (D) 2IoQd AHa1D F]IQ
Psycology is a

(A) science of soul (B) science of mind

(C) science of consciousness (D) science of behaviour

6290 ARCYRFIR IR QTR 6L ?

(A) YR (B) eglelee (C) garal (D) 2R
Which is not a factor of motivation ?
(A) Prize (B) Incentive (C) Praise (D) Practice

9 Q9 Qd adia 2P @& LA ?

(A) Y Quedl  (B) 6ddlegl (C) gieeniegl (D) dIa 6R6sIQUQE!
What is the stage from 2 to 6 years called ?
(A) Pre-childhood (B) Infancy

(C) Laterchildhood (D) Pre-adolescence

2618 689 8T QA I JAR AN 69IFIC0 AP RIS 2GS ?

(A) AV (B) QaNE

(C) & 2RIAR (D) 99dY6ad

ZR —-1A/101 (5) (Continued)



15.

16.

17.

OTET — P - |
SET — A

The teacher studies pupils group behaviour mainly by which of the following

methods ?
(A) Interview (B) Experimentation
(C) Case history (D) Observation

6206 SgQ 26adg PN Q1@ ?

(A) dlee (B) Qs

(C) ewloaw (D) Q@gel
Which one does not indicate child’s emotion ?

(A) Pleasure (B) Sorrow
(C) Curiosity (D) Tolerance

d¢ P62 @ 69R ARQR HRECE PR AUACWIG RARIP 699 AR 1P| QLA ?

(A) Qg B) 9=
(C) @§e (D) "Rgae

What type of game is it called when a child derives pleasure by watching others
playing instead of playing himself ?

(A) Participatory (B) Free
(C) Non-participatory (D) Controlled

6290 69180 AR QAR P6L ?

(A) e 9@ (B) Q2% 98 (C) 23R 9a (D) @8 9@
Which one is not an element of intellectual development ?
(A) Creativity (B) Tolerance

(C) Thinking (D) Imagination
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“aeq F64I8I9R 8 A6YINIAR AIfelg 9F AU — 2AQ OB @4 ?
(A) QoeaQ (B) @ dulew
(C) <IRee (D) G

“Analytic and Synthetic abilities of mind is called intelligence” — who propounded this
theory ?

(A) Spearman (B) Jean Piaget
(C) Galton (D) Torman

Q6418 629 6941a da1e1 ‘geq 6al1]1” 6941 2egS QL@ ?
EGED (B) 2agaR
(C) Qg (D) ORISR

Which class of learners are not included under “Exceptional Category” ?
(A) Slow (B) "Retarded
(C) Normal (D) Gifted

2618 FIQ 68AE TIOYITIRAS LA Y& ACEITc! 968 ?
(A) e FIACe KR 9F @l

(B) <94l gQig Aex QAR

(C) dge aloieg g6 aige 98 @t

(D) dIOYQg AAREQ QIR KD €Q

Which one of the followings is not a merit of use of teaching aids ?
(A) Enhancing content knowledge of the teacher

(B) Making learning process easier

(C) Creating interest of the child for the topic

(D) Imparting concrete knowledge relating to the topic
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Qe IR RAFAS NRIYIQ QIR F6IB 6 ARG 62IR2IN ?
(A) Q893 9180 @9 (B) 62dQl-gdQl clI6Q AR QAR 99
(C) 924693 SI&o 29 (D) @99 Q& 8 g4l 98 §I&e 29
Which of the following is achieved by the use of Audio-Visual Aids ?
(A) Eyesightis sharpened
(B) Visual and Auditory coordination is established
(C) Hearingis sharpened
(D) Both hearing and eyesight are sharpened
P64)12 6296 AIRFe! J89Q 9@ QAR P68 ?
(A) Q28 dIOY YARQ NI (B) Qg d9IQle d86
(C) dgeaas a4 @ldy (D) o@de JdSIRle
Which one of the following is not an element of mastery learning ?
(A) Use of alternate text-book (B) (Alternate methods of teaching

(C) Child-centred learning activity (D) Group teaching

@64l 219 2RI FRRIERER 64T G180 gg Og AR 6 694 AR AR 8 AALRN g4
QIS 2RI TR 2GR gRlS AR — 2| FVIQ 68Q A7 AUER 2ARIAS ?

(A) I (B) 996 (C) Qs (D) oRITR

A student derived immense pleasure by solving a mathematical problem correctly while
doing homework and became interested to solve the next problem — This is based on
which law of learning ?

(A) Law of readiness (B) Law of exercise

(C) Law of similarity (D) Law of effect

ZR —-1A/101 (8) (Continued)
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Q6918 6290 FAEER LNITR JAIIAR QIR JFAIY FAUILIRAN ?
(A) G IS (B) 9eed@a Al
(C) YRRAIQ IR (D) 6@QI0AIQ PR IR

Which one of the following is measured by continuous comprehensive evaluation ?
(A) Holisitic development (B) Development of creativity
(C) Development of experience (D) Development of divergent thinking

@64 §91001Q QRN 698F ATRVIQ AFVIGER 0I'Q FAR 6AFER AVG| 8 ATRV| IRRR
QAR 56162 609 ANVE FAUAIREIN ?

(A) 2R6QINGI QIS (B) 991 4QINE
(C) 99e aQIld (D) <6998 A

Which test is conducted to estimate the future efficiency and achievement of a student
based on his present educational achievements ?

(A) Aptitude test (B) Achievementtest
(C) Unittest (D) “Attitude test

Q6918 F1IQ 62RG IR FIGIYeR AICOYIRAS 266 ?
(A) eRIAC! (B) gode 69I¢ (C) Faad (D) 99qa

Which of the following is a dimensional teaching aid ?
(A) Black Board (B) Display Board (C) Still Picture (D) Model

gladia Saueae dIfIes (6o F6I8 699 AU QIRI 2GRS UGS @5el’] ?
(A) QIge adieead (B) 2uAlew OIQ 98 (C) 2gaadl (D) <IeF 9ee

By which of the following methods the pupils of primary school mainly gain experience ?

(A) Concrete observation (B) Hearing from others

(C) Imitation (D) Imaginary thinking

ZR —-1A/101 (9) (Continued)
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28. 56018 6296 RIMY-09G §8Q FIIR IR AAIAR 6L ?
(A) 2d6QRIQ 86 (B) ¥6ARIQe QI JY
(C) <9@ g Aaa (D) YRR FQS
Which of the following is not an element of activity-based learning ?
(A) Meaningful learning (B) Relatively permanent learning
(C) Very active teacher (D) Pleasantlearning

29. 568 6296 9264414 FFIRIQ MRYIQ IR 63T Q6@ ?
(A) @648 JYR 9@ AAAEQ YRR 654116Q VIR FQ@
(B) d9@ 69150 6461160 JI0CQ@R URY6H416Q JAINR @QE
(C) d9@ QALUER 691G~ d6Q 69T 656116Q VAR FQE

(D) 695N 6541160 FFER QIQl F§al A8l F0E

Which of the following is not a characteristic of multi-grade teaching ?

(A) One teacher teaches simultaneously in'more.than.one class

(B) Theteacher gives task in one class and teaches in the other class

(C) Theteacherteachesin both the classes serially

(D) While teaching in one class maintains discipline in the other class through the monitor
30. 6900 4RI FIRQ IR AUQIQ Q6L ?

(A) 622199101 58e  (B) 6@QIEqs fee (C) a9R1a 529 (D) 909Q o8
Which is not a component of creative thinking ?

(A) Divergentthinking (B) Convergent thinking

(C) Flexible thinking (D) Novelthinking
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M. 1. L. (ODIA)

a¢] goa 2QERas Aload FRdie gg (8° me @ M8 adie) geee eaa 4 |

‘FaI’ 98 QAT A8 B AQR IQ° AIQ g4I TR AT ARIQGAR QUL | @Y
Q908 Y2I0IQ 9F FIFE3 JN6R JROR 9 @8 Q12 | AAY AR RIFQ AARIQE AL 1SS
2R Q26 G UICRIFRIER R 69@ ULE | 6QID6FVT ARFIAIER 2R AT FRUIIRQ FAIR
6RIR RIE 2R RQ% B gAQ G762 G0 MYl FA2ITIE | AR AFIS . r9IER UG
26Q4 696 - ‘RIUIR 69960 UG FIfl QBARID, JDEQ B F6H YUY QD : 6ADGR FITIAR
PRSI QRO (RNE ATA 1&° 1@ 6@609ad KIER R 64 ARIRIA ILIIPFR ARG
ARG PRRF, Iel 9@ 6@ AU JO8e | UIAINTR QAP Jd6re Q62 6208 62194l
JoIfe QR69, AEIRIR RI63 | g IARIIER 6T ERER 62 FRIFIAT IR AR Sl
69 AIYINIQ PRSI AFER RIS AR, G121 ARFRYAVAES QIR RIS 22ULS | 77

31. ‘A9 485 ARIQE 6999, IS —
(A) @ 6Q66Q AT FTC 62Iasemd
(B) a21919116@ JQI SIAER T2 [ERE
(C) A966R dgIRel 8RR
(D) Q7162 SRl G248 2R
32. QIUINERE AR SR TLOUQ NS —
(A) RIS ATIS F6RE 69IQ
(B) ‘Afl62 FRINIR @08’ AT I8 264 QIR FRAUQ
(C) RIDIR6Q 9l STK6R AFI6Y 2IERIFR! KR
(D) QI AQRID 62IRIYRIQ
33. A9IQ ASRINR FAUSAER -
(A) QAR RIS 6ARAIRR
(B) 09¢674a Qa0 62109189

(C) RAFRQIY ISR 6269
(D) QAULECRGR VAR A6
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34. Q62 629 KUIP AFRYAR AQRUR RIS 2088 ?
(A) IRNVICNER 6Q980 SRR
(B) dRIClER FYTIVAER UIERFR 29
(C) d9Ig ASRRNR FAUAIR
(D) <SRdErd AGHINRR ARAQ
35. @ 2QERITER ‘U1 FRG F6¢IP FRIQ 6RR AU NFLIR FAUAIREG ?
(A) Q@ (B) QUGS
(C) SRS (D) QI2l AT 29 }I@
QAT 9@ GRde 99 (8° N9 Q ¥o) geea e 4 :

ARRUIQ QEEQ 121 AIRIS
AR F1e IR YRR 2a |
@ 2@ @ IR 6Q12Q IR
QIR RUSR 2UR 621124 |
RERIER 6D6Q6RER FTY QAR
@ AR 9 JPY-9Q-92-FIUIRT |
Q Ml 2UREI 8 QO-G6QeR
298 ASIea 94 aAml A 991 |
R} 390 69IQ 2SR
AR B¢ QRS- FAURIQ |
A0 Ml 6969 AR ACIEL
PERIFIR 611R FIR-AIAUAR |
Qgml 69916R JF-AIR RN
6R9R RIS 26N ARG QIR |
624 RIRIGIO AURY-FIR-UCTR
QR 600G 92-ARIR
64 QREQ URA ARG RAREE
AR 2IRIG, 98 ARIADAIER
(62 @1@¢l, QY F@ KILIQ Feca !)

AAUFD 2R 69% URS 2ARNER |
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36. 2RHQ IF 5699 699 UQ RSV ?
(A) 91
(B) 9QIQ
(C) aae
(D) g
37. 699 AANER AFS ARAQ MIT ARYRNI 61R FBI6R FRIAIRG ?
(A) 69606260 6@ J2aT1 @ gl
(B) 60606960 6@9R 927168 @ 2em
(C) 6060696 6297 IUIER @ 2R
(D) 6460626% @08 AR, YUIFR 92 SIQl 8 AN @ e
38. Q649 FIQ 6296 ‘RR-AIANRY’ ATQ F689S ?
(A) gR-GaRIR (B) dQoRIeelq
(C) ogae (D) RN
39. 6QQ 908 ‘VURNTRIRY’ & AN Y6l LAURIAD 2
(A) 92-ARIeR (B) | 699RIRI010
(C) QIN-9R 26ASR (D) 22 2R
40. @ QAQI0Q 6541996 JAIAUR RGN JQUIIAIES -
(A) UIRISYE ARIQREHR 626Q@
(B) 2IRIFIQ IIQe! 8 Ao ARl AANER AR QIR AARIE AIRER
(C) ARIH6R Yi-01-92-099IF AQUIR FRIQ J6QIF AIRER
(D) 9991 RIRER ZIRIFER IR IO 4RI RAIRER
41. Feqienuq gIQ 9Iadie 23a6a IgIFIER IgRISI AlIFR gl 28 F62 6% 286 ggaH
Q6% ?

(A) Y, AN, QUIRAE!, YRR, FAHIY ARYIT EAFER AILIYY REQ
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(B) 99l B 64191 F1I6Q 2 VARG LIS RN

(C) A°k3, UNBRD, 2ad, IR FTAER RPN KRN

(D) G, QUG QMIG QIVIRR 6T ALIAF! @R8I

6290 IMIVIANR A6REY Q6T F2d QAR AR ?

(A) 6dRdIeRIQ R4 (B) QUILQE RIOQ AQQE
(C) 2@ QD B ARIQAQ TORKER 2Ige (D) 39 698 A°ge QAR

Q6918 F1IQ 699 ABT PRIV TAAGER 3G AV AOR G AR JRE6Q AR AIUIQET F2d
QAU ?

(A) gdQl, @8I, 9@l 8 6nFal AYGIER RS 21AR }QQ!

(B) @UTIGIQ 6@l9% LA B PP JORER QUG 21AN FAR

(C) <I0YYLRg dIrda QTR (19 AR J9Q e 699 @ IR

(D) a0eIrda ieRel, F1GIA ARG A2R6R QTR

‘2 RQIR FaIe 2YeR §9 6ad | (A, QYdl, OF, a4 )

42l 56919 AIQ 624 JRIQ J4Q AR ?

(A) 99 @R

(B) QI QRN

(C) @09 REeee

(D) 6922 d¥

629 AMNET 9R3ARIAAE JFa AU ?

(A)  QIf, 6616l, 627, QAR, 2Q4 | (B) 9I'e Q@@ 9129l @RIUN |
(C) 699Q FRIF-6TRIOS 6AUR Q6w — ? (D) @naN egade ¢ 69l |
QARERTR 6969 @91l (,) 0IQ T ANR FAUNR AILRNIRS! Y6 671 AIQ 69R RUT TR
NRLIQ YLD ?

A) 10 (1) (B) exdexiag (;)

C) @gs (") (D) @wsaq (-)
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YR g9F 6% IRIQQ g4 ? QR FRIER 2 IR TR B TRA AI¢l ARG AR 6Ad |

(6cRIg, AEIQ, R, IR, RR, AR, S¢)
(A) QI ae (B) Qelead gae  (C) ga8RIead (D) QAWNIAUERR

gL 6981 AIANNRT 660 UVR 6AHIAS] FIF! 697 AV FPF 6919 9OF 98 F0R AR
QAR 1@ AQATY ___ QLIQI |

(A) gasd1aad  (B) 9961994 (C) ¢6RIR9R (D) 69R@
‘ABINEER’ A 94 ‘K’ Q618 AIQ 6896 O] ?

(A) G++¢ (B) 8+« +Q C) 8+ (D) 8+@
RN QUG AAEIIIF QTG 9 7162 F67)IB 699 IRIQ UORT AR ?

(A) Q1RQU0R (B) Q@d0@ (C) @doR (D) QRIABUOR
gI2fie 906 59 694Ia IR FAUGER 6419 ABAUQ 6RRG D2llEl IS |

(A) J9es 39 A2IA0IER FQUIEIAIES AOL 98 CIR6S |

(B) <I82Q1-QanIgaQl 996 22108 @RIQ J6LI9 AIRER |

(C) QIR 986 Y1 98T0 62IRUAES |

(D) 209 6Qd YIRLe 6262 |

52. QUEIEQI 968 6096 ALIAR RITIQS 2B 962 ?

53.

(A) 9812 6%R (B) 999109 68%

(C) Q91K 6¢1® (D) R 6%@

‘29 2ERQ RAQY’ gA°CIS 9QIRQIR F68Y Q6N 629 —

(A) 9TgE FuIEAIER 2Igel 6262

(B) <3 2ddee 92 QLI Y6QIF AIRER

(C) <IEQ1ge 2Igel @ 62Ia SR IR 62719 JRIIR 6269

(D) dia *figee Aaad 956
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54. ‘Qlealq’ ARTERQT F6q)I8 AIQ QI |

(A) QA+ (B) Qlo° +QIQ (C) Qo+l (D) Qla +9IQ
55. 2Q626m X718 G 62ml 6419

2R QRRAUL UR QR 694 |

A°FTEQ 76618 FRIQ 62L6 ‘GRad’ dea 2 6w ?

(A) g (B) adqll (C) Y (D) [ULY
56. ‘2Qey’ deq 2el ?

(A) @98 (B) &@Q¢ (C) QeI (D) 2RQeQ

57. ‘@@@l 26T q8l’ @a0! dQIaQIQIal JRIN 699 VAR RIQ 2L FG6Q ?
(A) 601999 STY6R FIEAIRER
(B) UQew Y906Q @ISR
(C) 691dQ @ UARew ITLER FIEARE
(D) 6919QY 60 QRLAQA °Y IR QG YRR ELQ
58. 56¢I8 FRIQ 6996 FUIRQE JVIQINQARINE AEREY FER?
(A) Afe @SIg 0Q QU6 9LUIRARI
(B) 996109 8 Q@Y G09a 62l4% dQ @A
(C) 999 Qg QTYAIAIE 6RHIER geld @S
(D) gR@e 9a6Q ZI9E @ die @89 6x1R Y @QQl
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ENGLISH

Answer the following que stions choosing the corre  ct alternatives given (Q. Nos. 61to 70) :

61.

62.

63.

64.

65.

66.

The four countries of the world, where ‘English’ is a Mother Tongue are :
(A) United Kingdom, United States of America, Australia, Canada

(B) United Kingdom, United States of America, Australia, Japan

(C) United Kingdom, United States of America, Australia, China

(D) United Kingdom, United States of America, Australia, Russia

If RMSA (Rashtriya Madhyamik Sikshya Abhiyan) is being organized in the State level by
OMSM (Odisha Madhyamik Sikshya Mission), SSA (Sarba Sikshya Abhiyan) is being
organized in Odisha by :

(A) SCERT (B) DPEP (C) DPC (D) OPEPA
In Odisha English is being taught as language.

(A) 1st (B) 2nd

(C) 3rd (D) 4th

The right sequence for learning the‘four Macro Skills is™
(A) Writing, Reading, Listening and'Speaking

(B) Reading, Writing, Speaking, Listening

(C) Listening, Speaking, Reading, Writing

(D) Speaking, Listening, Reading, Writing

‘Skimming’ is a subskill of :

(A) Listening (B) Reading

(C) Writing (D) Speaking
Summarising, note making and reporting are associated with skill.
(A) Reading (B) Writing

(C) Listening (D) Speaking
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Holistic Evaluation of learners is done by :

(A) Unitend Evaluation (UE)

(B) Termend Evaluation (TE)

(C) Continuous and Comprehensive Evaluation (CCE)

(D) Month-end Evaluation (ME)

The Right of Children to Free and Compulsory Education was made in the year :

(A) 2007 (B) 2008 (C) 2009 (D) 2010

What step does a teacher have to undertake to facilitate reading habit of a learner ?

(A) Reading News Papers (B) Library Reading

(C) Picture and Map Reading (D) Allthe above

‘By Education, | mean an allround drawing out of the best, in the child and the man ‘body’,
‘mind’ and ‘spirit’. This was told by :

(A) M. K. Gandhi (B) Pt. Jawaharlal Nehru

(C) Dr. Sarvapalli Radhakrishnan (D) R.N.Tagore

Read the paragraphs mindfully and answer the following five questions (from 71
to 75) choosing the correct alternatives

This is a story about the great Moghul Emperor Akbar, who ruled India about 500
years ago. His capital was Agra. Akbar could not read or write, but he was one of the best
and wisest kings that ever ruled India. Although he had no education, he had great respect
for learning. He invited some of the greatest scholars from different parts of the country to
come to his court and help him to rule the country. He chose nine of these wise men to be
his close advisors and to follow their advice in all matters. These nine wise men were
known as ‘Nava Ratna’ or the nine Gems of Akbar's Court.

The most famous of the Nine Gems was Raja Birbal, who was always at the Emperor's
side. Birbal had a great sense of humour and often said things which made Akbar laugh.
Whenever Akbar felt sad, he called Birbal to tell him a joke or a humorous story. Birbal
never failed to make Akbar laugh. But, although his stories were funny, there was great

wisdom in them. Akbar respected him and loved him like a brother.
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The unusual thing about Akbar was :

(A) He was one of the best and wisest kings of India
(B) He had great respect for learning

(C) Hewasilliterate

(D) Heloved Indians

Akbar invited his ‘Nine Gems’ from different parts of the country with a view
to:

(A) helping him to rule his Country (B) listening to stories from them
(C) listening to their songs (D) getting himself amused

The ‘Nine Gems’ of Akbar’s court were :
(A) Scholars (B) Singers

(C) Musician (D) Dancers

Birbal had great sense of humour and often said things which made Akbar laugh. The
underlined word in the sentenceisa/an

(A) Noun (B)  Adjective

(C) Verb (D) Adverb

Birbal for Akbar was as loving and respectable as'a

(A) minister (B) courtier (C)“ustory teller (D) brother

Read the paragraphs mindfully and answer the following questions choosing
correct alternatives.

In football, hockey and other games the length and breadth of the playing area is
fixed, but in cricket the playing area can be of any size. A sixer at Melbourne Cricket Ground
in Australia needs to clear much more ground than it does at Feroz Shah Kotla Ground in
New Delhi. Moreover cricket grounds can have different shapes.

Mumbai, the first Cricket Club of India, was founded by Parsis in 1848. India played
its first test match against England in the year 1932. C. K. Naidu, an outstanding batsman
of his time was the country’s first test captain.

In today’s world, television coverage has made cricket very popular. Children in rural
areas love to watch cricket on television. Within a few years cricket has become the most
popular sport even in small towns and villages in India.
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Cricket has become popular all over the world. But our country has the largest num-

bers of viewers in the world. For cricket, India has the largest market. Therefore, South
Asia has become the centre of cricket playing activities and the Headquarters of ICC

(International Cricket Committee) has shifted from London to Dubai.

76. The country which has the largest number of cricket viewers in the world is
(A) India (B) England (C) Australia (D) WestIndies
77. Asixer at Melbourne Cricket Ground in Australia needs to clear much more ground than it
does at Feroz Shah Kotla Ground in New Delhi. This means :
(A) Melbourne Cricket Ground is smaller than Feroz Shah Kotla Ground
(B) Melbourne Cricket Ground is bigger than Feroz Shah Kotla Ground
(C) Melbourne Cricket Ground is as big as Feroz Shah Kotla Ground

(D) Melbourne Cricket Ground is oval
78. C. K. Naidu was a great
(A) allrounder (B) bowler (C) batsman (D) wicket keeper

79. Cricket has been very popular these days becauselof :
(A) Children’s involvement (B) s#Television coverage

(C) Wind fall money (D) Honour and dignity

80. The Headquarters of ICC was in
(A) London (B) Dubai (C) Mumbai (D) Melbourne

Answer the following questions choosing the correct alternatives given (Q. No. 81 to 90) :

81. Mohan’s motheris L. P. school teacher.
(A) a (B) an
(C) the (D) None ofthem

82. Dr. Manoj Das is a versatile writer. The underlined Noun phraseisa/an

(A) Object (B) Adjunct (C) Complement (D) Adverb
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83. Please don'tthrow a stone the monkey.
(A) to (B) against (C) on (D) at
84. Sima sang

(A) inthe town hall yesterday beautifully
(B) Dbeautifully yesterday in the town hall
(C) Dbeautifully in the town hall yesterday
(D) yesterday beautifully in the town hall

85. My friend Bishnu presented me witha/an camera on my wedding day.
(A) beautiful new American (B) new beautiful American

(C) American new beautiful (D) American beautiful new

86. Radhawas made at the party.
(A) dance (B) todance (C) dancing (D) danced

87. The police failed to catch the criminal. Before they arrived at the spot, the criminal

(A) escaped (B) would escape

(C) had escaped (D) .was.escaping
88. If Gandhi made a promise he it

(A) would keep (B) willkeep

(C) kept (D) would have kept

89. Which of the followings is right ?

(A) How are youmy dear! (B) How are you, my dear!
(C) How are you my dear ? (D) How are you, my dear ?

90. Mrs Mayuriis a grass widow. The underlined idiom means :

(A) Ayoung widow
(B) Awidow who has illicit relations with men
(C) Awoman whose husband is temporarily away from her

(D) Aworking old woman
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MATHEMATICS

23567 60 3 3 6 Q Q19 Qe AT 99° 5 8 7 Q 19 Ao AGF qIER IRy 6@6Q ?
(A) 2353 (B) 2535 (C) 2553 (D) 2355

What is the difference between the sum of the place values of 3 and 6 and the sum of the
place values of 5 and 7 in 23567 ?

(A) 2353 (B) 2535 (C) 2553 (D) 2355

Q6418 FIQ 6296 AT 6ANIFR A6yl 26e ?

(A 0 B) 1 (C) 2 (D) 3

Which one of the following is the smallest prime number ?

(A 0 B) 1 (C) 2 (D) 3

A, B, C 8D @ 639 900 oltais 998 Qe A°aIc ABCD 6267, aRge 9@ ga fkIQ 6996
oR?

(A) A>B>C>D (B) A>C>B>D  (C)b>C>B>A (D) D>B>C>A

If the greatest four digit number using A, B, C and D is ABCD, then which of the following is
true ?

(A) A>B>C>D (B) A>C>B=>D (C)D>€=B>A (D) D>B>C>A

QG QA @. 4. g 6 6. 4. g Q JEITR 630 | 67N AUQ 61T A°EYl 30 626 2AKY
Q°HYIG 6@6Q ?

(A 22 (B) 21 (C) 20 (D) 18

The product of the L. C. M and H. C. F of two numbers is 630. If one number is 30 then what
is the other number ?

(A) 22 (B) 21 (C) 20 (D) 18

37 AARRATER 6996 §O1E QTR 629 ?

8 2 3 1 5 1
— X =+ —=—X—4+ ===
2773 472 2 2
N 163 5 8.8 o 3,1 o 1.5
()81'8 ()279 ()42 ()22
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Which is the second step in the following simplification ?
8 2 3 1 5 1
— X—+—X—+—=-=
27 3 4 2 2 2
N 16,3 5 8.8 o 31 o 1.5
TR B 577 © 273 ®) 37%3
25.0203 = 20 + + + QIR 56918 AIQ 6896 O] ?
2 3 2 3 2 3 2 3
51_1 51_1— 51_1 51—1
*) 100 10000 (B) 100 1000 © 10 10000 ©) 1000 10000
Which one of the following is correct for 25.0203 = 20 + + + ?
2 3 2 3 2 3 2 3

51_1 51_a— 51_1 51—1
) 100 10000 ®) 100 1000 © 10 10000 ©) 1000 10000

2012 d@Ieq 699 6066a gmy 320 ol Aml, 2013 Adelea FIPIQ gy 368 o@l 6ol |
6069 60E3Q JMIER AUT@ 999 6066 98 AR ?

(A) 10 (B) 15 (C) 20 (D) 25

The price of a radio in the year 2012 was Rs. 320. In the year 2013 it became Rs. 368.

What is the percentage of increasednithe price of the radio per annum ?
(A) 10 (B) 15 (©) 20 (D) 25

QIS QI9 AIARISHAQ 687 62168 GQAIa 8.25 p. M. 6a ALIG A6@ 63AER FI9IQ 7.35a. m.
6Q J286R | 6068 RIS AT UIQRICHTE 68AQQ FER 6AAQER ALERIG 6960 A AR ?

(A) 10@ 15889 (B) 1141588 (C) 11a30488¢ (D) 12@ 1588

Subash Babu left Paralakhemundi by train on Thursday at 8.25 p. m. and reached Cuttack
station at 7.35 a. m. on Friday. What time did Subash Babu take to reach Cuttack from

Paralakhemundi ?
(A) 10hr15min  (B) 11 hr 15 min (C) 11 hr 30 min (D) 12 hr 15 min
4@ 010G QIR YE6TGER TR F6R 692 A6 6AGR 699TR A2 cm? 626m GIRA 6B 6R6E ?

(A) 4cm (B) Acm (C) 2Acm (D) 4Acm
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When a wire is bent to form a square its area becomes A% cm?. What is the length of the

wire ?

(A) 4cm (B) Acm (C) 2Acm (D) 4Acm
100. 66115 6RIEQ IRYAR 6RIEIQ AFYAR 6RIIQ AQACNE 78° 626m ERIETRQ IQLNE 6R6Q ?

(A) 168° (B) 102° (C) 78° (D) 12°

The complementary angle of supplementary angle of an angle is78°. What is the measure
of that angle ?

(A) 168° (B) 102° (C) 78° (D) 12°
101. 6QIEN g% 6161 FRIR AAAY NLIA 62KL0IER AR @GR ?

(A) 39Q ALELIHER (B) Q399Q Q2I6RF6Q

(C) 399a a4 AR (D) GQRYA IR 6QIE6Q

Where does the orthocentre of an obtuse angled tringle lie ?
(A) Inside the triangle (B) Outside the triangle
(C) Onthe hypotenuse of the triangle (D) ~Anangle of the triangle

102. 661G GRAR 6915 Q8L 6 AR 8(3@@ 92IQ 2204 Q9K 6R18 QAR QS 3:5
626M, N2IQ ARG 2284 QISR ARAUSLERED?

(A) 100° (B) 80° (C).120° (D) 60°

The measure of an external angle of a triangle is 80° and the ratio of the two internal opposite
anglesis 3:5. What is the measure of its adjacent internal angle ?

(A) 100° (B) 80° (C) 120° (D) 60°
103. AABC=ADEF99°MZA=mZD,mZC=mZE 626R AC @21A6a QaIQ ?

(A) (B)

(C) (D) 9w AQ 6aEdE Q6w
AABC=ADEFandmZA=m«£ZD,mZC=mZE. is equal to which one of the following ?
(A) (B)

©) (D) None ofthese
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104. 66115 §Q1 IRSLAQ 69616 AVGR YR &I ?

105.

106.

107.

108.

ZR -

(A) O B) 1 €) 2 (D) 3
How many plane surfaces has a solid cylinder ?
(A O B) 1 €) 2 (D) 3

66T QYRR G1E AHIl B UIQ AR 6AFNTRQ IR Al A T FER FEAATR
6R6Q 629 ?

A) 14 (B) 12 (C) 10 (D) 8

What is the value when the number of the sides of a cube is subtracted from the sum of its

vertices and edges.

(A) 14 (B) 12 (©) 10 (D) 8
RIS 2SR T8 QEEN e QAUUIRE, MOIER 6R60IT 616 Ha¢ @RdIfQl ?
(A) 2 (B) 4 (C). 6 (O) 8

A diagonal of a rectangle has been drawn. Hew many angles can we identify ?
(A) 2 B) 4 (C) 6 (D) 8
Q76a Q2UAINIYR! 689 AR VAP A6 JFAF 2°E6a 9 AR ?

(A) K (B) E (C) H D) R
Which of the following English alphabets can be divided into two symetrical parts ?
(A) K (B) E C)H O) R
645N AAGAIL AR 2IGHR QARG 6717 69R LUK ARG FUAIR AIRS ?

(A) 6QIQ (B) d@el (C) dRa (D) dQudiq

The idea of which object can be given by folding a paper having the shape of a isosceles

triangle ?
(A) Cone (B) Prizm (C) Cylinder (D) Pyramid
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109. 6915 2QTER AYIL B T@ Gl 6Q6Q ?
(A) 89 QY2 ¢ @@ (B) 89 Q9@ 9 @® (C) 89 Agle NG (D) 89 QAYle ¥ 4@
How many weeks and days are there in a leap year ?
(A) 52 weeks and 1 day (B) 52 weeks and 2 days
(C) 52 weeks and 3 days (D) 52 weeks and 4 days

110. 695N Q@Q IR NLIQ MIAR 6X6R Q& AL AR ?

(A) (B) 272 (C) 3.1416 ®) J10

The circumference of a circle is equal to how many times of its diameter ?

(A = ® - (C) 3.1416 D) 10
111. giIQ glade dgrieg 08o daIQle dia 5678 12l 2U6R Y[ YUK ?

(A) PR 09 =R B AIY

(B) @0l B 6T Fde 99 AId

(C) 629l B Q6Lc Q@i

(D) QI Q4RI

Emphasis is given on which of the following for teaching Mathematics to the pre-primary

pupils ?
(A) Drawing and measuring Geometrical figures
(B) Measuring and determining height and length
(C) Addition and Subtraction
(D) Counting numbers
112. 9R6Q496Q 92 29F0 9E6RI6Q 629 6QIPIT U B6IT 0IQ &a ?

(A) <@, 68l¢ (B) <Iql, @2l (C) @Iie, ag (D) 99, o
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Which pair is different from the other three so far as the position of the object in the envi-

ronment is concerned ?

(A) Big, Small (B) Left, Right (C) Front, Back (D) Up, Down
2618 680 d9IQIe ARG AHRE 690 ABE QA ?

(A) G6ga8 ARIFQ — RIF (B) 26N FRAQ — AR

(C) 26l ARIBQ — AANJIR (D) 699G g6

Which of the following statements about methods of teaching Mathematics is wrong ?

(A) Analysis from unknown — known (B) Inductive specific — general
(C) Deductive theory — solution (D) None ofthese

TR G FJae AAA AARIIL FA6R, F6)IB 699 I8E MR FRAILIRAN ?

(A) Qe6gad (B) Q6494

(C) Qa6 I6484 B U6Q A°64T& (D)  296Ql

Which of the following methods is adopted to'solvellogical problems in Geometry ?

(A) Analysis (B). .Synthesis

(C) Firstanalysis and then synthesis (D) Deductive

080 QUees da89a 9AQ gladia JIRAa ARIENAIER JIN0s 699 V0! AR KEAIGRI’E ?
(A) LYY AGE G AdIe (B) QISOR A°6R0Q UL

(C) 99Q AR IR ARIFAS (D) 2QHIPe B JRQAE

Which skill is not usually achieved by the pupils of primary schools so for as the minimum

level of learning is concerned ?

(A) Identification and counting numbers (B) Use of mathematical symbols

(C) Arrangementin descending order (D) Exercise and formula derivation
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080-FAIQIR6R FVANGFR NS JIING D@ FAUAIRAN ?
(A) Q6190¢ 28! IR (B) d9490 9Inc! 920 @RI AR
(C) 9& AdIa @Gl aIR (D) 6gd1 gesIde (aalg) aIR

Why is placement evaluation of the pupils done in teaching Mathematics ?
(A) For classification of pupils (B) For identification of learning deficiency
(C) For measuring intelligence of the pupils (D) For class promotion

@64 219 006Q € IR € o 6RAYMI | FIGR Ia& G5 A°6dINR ARQI IR S8 3678 609
JRG AR QA6CQ ?

(A) FEIRA°HY QDG AL FAURACR
(B) Q°HUIGERI AL RQURER
(C) AHIQ ARNANR FLIRAER

(D) 6QI9QY AVIY FAURER

A pupil wrote 110 being asked to add 1 to 100. To rectify such error committed by the
pupil, which of the following methods should the teacher adopt ?

(A) To aguaint the child with counting of numbers

(B) To give exercise on counting the numbers

(C) Explainthe place value of the digits

(D) Practising addition

691N g AR BFRIG FR QARG FATRI, N2 GG P& dlel % 6QIR engMl | 92
491210 69Q AFeIg QIR ?

(A) Q9l8°Q Re 8 2a 0] VIR RYIQR

(B) @Ql8°g A6 QIR 6AYAIQE

(C) qleaEa QI Ao QUTIER 6RYAIQE

(D) ¢lEGe QP ACTFER QUTIER 6RYAIQE

2
By dividing an object into three equal parts, two parts were taken. A pupil wrote it as 3
What skill of the pupil does it signify ?

(A) Knows how to write the numerator and denominator correctly
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(B) Knows how to write the fractions in symbolic languages

(C) Knows how to write the symbolic language in mathematical language

(D) Knows how to express the mathematical language in symbolic language
119. ¢die G9IQIR6Q gas I80a 609 /A6 O] ?

(A) deEsIeRl — deages — deaadiae — geaqmylae

(B) 998996 — 9RaHIan — JeacdIeql — deadaylae

(C) 9ee99c — 9RaedIeql — 9RaaAIee — gearmiloe

(D) 9eedIeql — geades — deadniIgs — deadsiaq

Which order is correct in teaching Mathematics by Project Method ?

(A) Planning — Identification — Execution — Evaluation

(B) Identification — Execution — Planning — Evaluation

(C) Identification — Planning — Execution — Evaluation

(D) Planning — Identification — Evaluation — Execution

~. <1 1 1 ~ v ~ A
120. @64l sQlel 5 + 3 = 5 Smaiml, 92| SV 69K Yl @o'g YR ?

(A) 29I8°a S 8 20 AHFER QG Q1L

(B) Q72q 394 Qg4 6219 A6 UIQE AI@
(C) A 4l q. 3da @RAQ QS @@

(D) QAR B AFLQ FVAEQ QG QD

1 1 1
A pupil wrote 5 + 3 = 5 which type of error of the pupil does it indicate ?

(A) Noidea about numerator and denominator
(B) Noidea about the addition of fractions having same denominator
(C) NoideatofindouttheL.C. M

(D) Noideaabout equal numerator and denominator
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121. Q@ QQ@Q 6RR0160 Q2 8¢l QIFY 61PN ?
(A) 2R (B) <IBAYIQY MIAYR
(C) 6qlea1a (D) €8 AR
Where the filtration of blood takes place in human kidney ?
(A) Hilum (B) Bowman’'s Capsule
(C) Glomerulus (D) Ureter
122. 6296 @@ 6981 @ ?
(A) 6aRIg| (B) QIABaQ
(C) 69Giead (D) @@
Which one belongs to another class ?
(A) Pellagra (B) - Kwashiorker
(C) Beriberi (D) Scurvy
123. 629 Q96 g26@ g9y FFA6Q AG0 621N gIER 81 99 2
(A) guGBYa (B) 9 6 g60QQ
(C) 9296 6 a7 (D) 42 6 26
In which two planets the sun rises in the West and sets in the East ?
(A) Mercury and Venus (B) Saturnand Uranus
(C) Jupiter and Saturn (D) Venusand Uranus
124. 4R QUQUAFR 61T90 YROT 99 6228 :
(A) QAR (B) <eelg (C) ag (D) =I9Q
The smallest unit of a chemical compound is :
(A) Electron (B) Atom (C) Molecule (D) lon
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E D A B C

—100—80 —60 —40 —20 O 20 40 60 80 100m

125. 9@ 90 @ A% A9@adg JOIRR, 6d9g6q A Agg 0 (49) FRIQIRE 1e° QI2Ie 299,
alg6ea 20 FeQ RUIFER 681G 6RSIN Q16 21T | @68 B A g Q2R 632 TR IR B 6
degem 9 6A0IQ 6MAG 692 daea QIR D 6 J286m | Q1@ @@ LR @GSl 9ol e
QEQ QAR YAIRES 62RR

(A) 100 &. 6 100 &. (B) 100 &. 6 — 100 .
(C) 160 @. 6 40 &. (D) 160 &. 6 — 40 &.

The diagram above represents a straight road in which point ‘A’ is taken as 0 (zero) and
on its both sides marks are made after every 20 m. A person started from ‘A’ and walked
upto B on the road and from there turned back and walked upto ‘D’ on the same road. The
distance covered by the person and his displacement are respectively :

(A) 100 m.and 100 m. (B) 100 m.and —100 m.

(C) 160 m.and 40 m. (D) 160 m.and 40 m.
126. 6906 &a 6948199 ?

(A) 9@ (B) <9 €) diedn] (D) g

Which one belongs to another class ?

(A) Kidney (B) Liver (C) Stomach (D) Lungs
127. (a) 92N SIAAIQI PRAIR AL 6101 YIS HIRIQE 26T |

(b) 26 98 QIR FTAVL HIRIQE 2G|

€) Q9P 601 gRIQ IR CFC IR RIQS 266 |

(A) (a) O 9e° (b) 6 (c) gm (B) (b) O) 4e° (c) 6 (a) gm

(C) (c) O) e (a) 8 (b) @R (D) (a), (b) B (c) @m

(@) Green house effectis the principal cause of global warming.

(b) Depletion of forests is the principal cause of the acid rain.

(c) CFCisacause of the green house effect.
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(A) (a)iscorrectand (b) and (c) are wrong
(B) (b)is correctand (c) and (a) are wrong
(C) (c)iscorrectand (a) and (b) are wrong
(D) (a), (b)and (c) are wrong
128. 624 985 @R ? (9694 J96Q QL0 go1Rgee 6A719a QINIAR 22e2e @98 1)
(A) QIY (W) =Fs (B) <@ (F)=ma?
(C) @%@ 9@ (P. E)=mgh (D) o0® 98 (KE) = zmv?
Which formula is wrong ? (The symbols used in each formula carry their usual meanings.)
(A) Work (W)=Fs (B) Force (F) =ma?
(C) Potential Energy (P. E) = mgh (D) Kinetic Energy (KE) = smv?
129. 6096 @2 geloq a2 997 @2l ?
(A) 91 UART (B) <9Q ANR1
(C) QUIERATRY U1 (D) AP JIR1T
Which one carries different kind of blood ?

(A) Renalartery (B) Hepatic artery
(C) Carotid artery (D) Pulmonary artery
130. 69192 ARG VGG 6996 AN F6RIT 0IQ 8] ?
(A) 20| (B) agl (C) <% (D) UFEFIQ
Considering the causative factor which one is different from the other three ?
(A) Cholera (B) Tuberculosis (C) ChickenPox (D) Tetanus
131. Q618 FRIQ 6996 ARIP JAIQ YUY AAY ?
(A) 6982 314 (B) @4 Qa@0l Ials
(C) Qe Il (D) 9Qag
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Which of the following is the main objective of Science Teaching ?
(A) Cognitive development (B) Psychomotor development

(C) Affective development (D) All of the above

QP8-929AR JVIRIR FVE IRGER FNR ADE 699 FTL A2 A°U@ QR ARG ?
(A) QYR I]e (B) @19 IR (C) @-98Ie (D) Q6@

Which subject is associated with science in inter-correlation method of teaching learning

process ?

(A) Chemistry (B) Life Science (C) Geo-science (D) Geography
60008 3RIe JNIRINQ ATV IR IR 60R 6919 AUER JQQ 699 AFE ?

(A) QRAI0Y 6K (B) 4IOY 69Ixel

(C) 99 6QIeal (D) 6441 9RQIRl 6QIaal

Which strategy should a teacher emphasize in day to day teaching science effectively ?

(A) Co-curricular planning (B) - Lesson planning
(C) Unitplanning (D) Classroom management planning

6296 IR a0 AIC0YIIRRE 26T ?

(A) R (B) <6en (C) 9%l (D) <I¢

Which is a printed teaching aid ?

(A) Slide (B) Model (C) Sample (D) Chart

“QIgea R1Y QT R — Ig P64 JAR QP G QT UG AF @8 AN J6Q AR
QLR IFER AU PRSP 69¢IR PEIREM | 12 FRFR 699 QIRIG FLIAR ?

(A) QIR (B) oQIdew (C) el (D) GoQda

“Water vapour is present in the Air” — This was explained by a teacher keeping pieces of
ice in the glass and exhibiting water droplets on the outer surface of it after a while. Which

role of the teacher does it signify ?

(A) Manager (B) Care-taker (C) Facilitator (D) Guide
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136. Q121919 AR 6@ 6541Q @ﬁ@@ aeo ?

(A) gag (B) Qo1 (C) 9914 (D) ogd

Ocean floor belongs to which category of landforms ?

(A) First (B) Second (C) Third (D) Fourth
137. 641991 QIg) 699 9RIQ 9@ QY gL ?

(A) QAQbe (B) Q19 (C) @9e (D) Cege

Which type of wind is monsoon ?

(A) Periodic (B) Local (C) Planetary (D) Accidental
138. 6296 PRIUYA IR FAAR 962 ?

(A)  ag°d (B) Qe 0IQ 9199 o9

(C) <Qidel (D) Q9Q 99Q AR PG

Which is not a factor controlling climate ?

(A) Latitude (B) Distance from the sea

(C) Longitude (D) - Altitude
139. @68 VB 8 990 G AURVUCA EAYAQ YR TSI ITER 691 ¥ JFF RALAR

ALPRC RQAER ?

(A) 2991, 2241, 639041, adqmil (B) [ 639041, Q12411 feiea1, adgmyl

(C) odgal, QIPAAAFY, 6! (D) <IgdN, 659041, AT, ALIRAT

A person travelling on N. H. no. 5 from Balasore to Berhampur will cross the rivers in which
of the following orders ?

(A) Mahanadi, Brahmani, Baitarani, Rushikulya
(B) Baitarani, Brahmani, Mahanadi, Rushikulya
(C) Rushikulya, Mahanadi, Brahmani, Baitarani
(D) Brahmani, Baitarani, Rushikulya, Mahanadi
140. 36€)I9 6296 QA FIGH160I8 ALRa 33T 26e ?
(A) 9190 QRQ F67Q 9@ (B) @ﬁ@ QAQ (19 QX

(C) QY QRQ A9 9& (D) @06 aQ 6FQ 9

ZR —-1A/101 (56) (Continued)



OTET — P - |
SET — A

Which of the following is the extension of the north temperate zone ?

(A) From Tropic of Capricon to antarctic Circle (B) From Equator to Tropic Capricon

(C) From Equator to Tropic of Cancer (D) From Tropic of Cancer to Arctic Circle
141. 6Q16d YR 66D ANFR 69TR ARG 2IJIAG 6AIRRIR ADICIVEF @6 @LIAN ?

(A) g2 adiead (B) Ba@e 9dY6ead

(C) 9o 9dyeasd (D) <6QIS AFYCRE

What s it called to visit a geographical location for objective based observation in a planned

way ?
(A) Free observation (B) Controlled observation
(C) Directobservation (D) Indirect observation

142. giafie 206a U-2094@l 991991 Il SgRE0 699 J80 A6QIge. ?
(A) 20 gede (B) @99l gade
(C) 694192 gadat (D) 1688 JAQES
To teach U-shaped valley at primary level which of the following is the best method ?
(A) Displaying picture (B) Model display
(C) Class exhibition (D) Field trip
143. QP21 J9II96Q ‘ARG a9’ IR FAUAIRAN, QS FJIANAES ............
(A) @ ATA6Q AL 9@ QI P6RINR I02IdR ASAINUER AU TR FRAIRER |
(B) 10213 Q09Igeq Ae96a 1169 QFdIRE6R |
(C) 6219@ A0dl g& 2A19ACR FEUIRER |

(D) Q98 QY *AAIAEL |
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‘Time line’ is used in History teaching, because pupilscan
(A) establish relationship between two or more historical events taking place simultaneously
(B) remember historical events easily

(C) express the historical events chronologically
(D) Allof the above

giefie 906Q QE2Id IR FC62 6aR JRGE AN AUEIGT 2I6e ?

(A) adY6a8d (B) gede (C) g QaQ (D) 9ee

Which method is most useful for teaching History at primary level ?

(A) Observation (B) Demonstration

(C) Storytelling (D) Project

AP FVIRIRER H2 G gMIAIFRP JE IR UINAN, ARG MR FVIE AIPEQ ------ .
(A) Q2941 987 gagia I8 Al

(B) Tl Q94190 F6494 @GQI6a ALIAR 621Kl |

(C) QYIS F2Q IR AN TSR QIR AA6R JAGFIR KRR ALVR 6LRAN |
(D) QUEAIL AL VIR IR ATl

Thought provoking questions are aksed while teaching History, because they help the pupils
fo:

(A) develop divergent thinking ability

(B) analyse the incidents occured

(C) predict the occurence of the next probable event from its analytical account
(D) develop all of the above abilities

QURG1A AAUIFR VKR @94 2

(A) 6K Al (B) QIxY Q< (C) Q6P QUIAIea (D) QUa8Ad
Who is the protector of the Indian Constitution ?

(A) Lok Sabha (B) RajyaSabha (C) Supreme Court (D) President
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Q56 AN QR FE1S 6% FIAR HARIT 1919 ATLI6R ‘AR FIAR ARR'Q QA 6@ ?

(A) €1649-697Q6TIG A°IR QY (B) QNG AIRY
(C) qem-f6dl AR QY (D) @IFeRe A9Q QY

Which administrative act passed by the British Parliament became a law of Indian Admin-
istrationin 1919 A.D ?

(A) Montegu-Chemsford Ammendment Act (B) RawlatAct

(C) Marle Minto Ammendment Act (D) Cabinet Mission Rule
QUACER Jae IRl Q°gIel 66 6R1RYMI ?

(A) 1757 (B) 1857 (C) 1919 (D) 1942

The first struggle for Indian Independence took place in which of the following years ?
(A) 1757 (B) 1857 (C) 1919 (D) 1942
ALY ARRIAEA AARAER FER Y IR ALAVIHER ARAUA QLF ?

(A)  QUIRART (B) Qeds

(C) 6RIQ 9@l (D) 699Q RRARIIQE

To whom do the Members of Parliament owe'theiraccountability for various functions in a
parliamentary form of government ?

(A) Prime Minister (B) President

(C) Lok Sabha (D) People of the Country
6@E6RRC A°RUIR A°6CAUR 2R APl VUG @ A6 BRI RUSIRNIRNAEN] FULIRG ?
(A) 40 (B) 42 (C) 70 (D) 76

By which of the following constitutional ammendment act India has been declared ?

(A) 40 (B) 42 (C) 70 (D) 76
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